-~ —~
S S
&) (&)
- —
-~ ~~
2 -
o -1
o 10 L
5 ©
1k " [ ' <
b E 3
. b & .
5 : L +
H H AN
I 111 | 1111 11 11 1 111 1] 11111
(@] (@] H: = 5 - 4 -
% "C:U l:i:---o-u- 0| -0 -' -0-t ko = o - i
e H E
0 9: - | &
ol 1 T
R I EHEEEEEEHEEEEE [ 4 ha E
: 4l L ; ; 0 gl ; ; : .

1 2 3
—=— DQM_TT__mkFit-DQM_original-lowpt mllne)

|
w

|
N

|
[N
o
|
N
w

—*— DQM_TT__mkFit-DQM_updated-lowpt

|

a(d o) (rad)
o(o IOT/ IOT)

10%
1.2

S

Ratio

1.1

N B E S E = Sh £ 5 PERREY PR B B
H h 2 i i - i i i

1 2 3 0 1 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)




	Contents
	Page 1


